
 

 

 2𝑎 + 9𝑎

 9𝑥2 − 4𝑥²

 2𝑥2𝑦3 + 6𝑥²𝑦³

 𝑎𝑏2 + 𝑎𝑏2

 𝑎 + 𝑎

 

 (3𝑥). (2𝑥3)

 (2𝑏2). (3𝑏3)

 (40𝑏) ÷ (10𝑏)

 (10𝑎3) ÷ (2𝑎)

 𝑚³ ÷ 𝑚²

 

 (2𝑥²)³

 (𝑏5𝑎²)³

 (4𝑎)²

 (
2𝑥²

5
)²

 (
𝑥

5
)²

 

 2𝑥3 − 2𝑥 + 5𝑥 + 4𝑥3 + 8 

 𝑥2 − 2𝑥 + 5 

 



 

 (2𝑚 + 10)𝑦² − (5𝑛 − 60)𝑦

 (𝑚 + 3)𝑥² − (2𝑛 − 12)𝑥

 

 

𝒚² − 𝟐𝒚 𝟑𝒚² –  𝒚 𝒚² –  𝟓𝒚

 

 

 

 

 

 5𝑥𝑦² +  7𝑥³ +  4𝑦²𝑥 –  9𝑥³ + 2𝑦²𝑥 +  2𝑥³

 − 2𝑎²𝑏 +  ( − 3𝑎)  +  7𝑎𝑏² – ( − 4𝑎)

 8 –  9𝑚 +  7𝑚𝑝 +  15𝑚 –  6𝑚𝑝 +  3



 

 

a) 𝑎2. (4𝑎 +  𝑎𝑥³) 

b) (15𝑎𝑏 +  7𝑎2–  3𝑎). 2𝑎 

c) 4𝑥2. (𝑥² +  3𝑥 + 5) 

d) 2𝑏. (5𝑎𝑏 +  7𝑎2–  3𝑏) 

e) 𝑥. (𝑥 + 𝑦) 

f) 𝑎2. (𝑎 + 2) 


